THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, . LoC DIST REVISIONS
© copvricHT - BY TYCO ELECTRONICS CORPORATION. ‘- RIGHTS RESERVED. GP 100 1= BESCRIFTION SATE T AEvD
O | RELEASED PER EC 0S13-0207-05 28JuN05 | SW | JG
D) D
#4—40 SLIDE LATCH SCREW #4 FLAT WASHER
2 PLC 4 PLC
] () #4—40 HEX NUT —
- OPEN 1 2 PLC
] 600 . 165 -] ||‘{|||‘{|||_ _ L __] _ _ _ _ _
— ‘ : LT 3
C | - 415+.015 | C
#4 LOCK WASHER
2 PLC
—= ——.2/6 MAX
| SLIDE LATCH I
2 PLC
1. PARTS PACKAGED UNASSEMBLED.
A PARTS PACKAGED AS A UNIT KIT.
g A PARTS INDIVIDUALLY BULK PACKED & SHIPPED AS A UNIT PACKAGE. 3
A ZINC PLATED .000200—.000400 THICK,
YELLOW CHROMATE COATING.
5. THIS KIT CAN BE USED WITH ONE—PIECE STRAIGHT /45"
EXIT CABLE CLAMPS, ONE—PIECE STRAIGHT/90 EXIT 3 5206942—-2
O CABLE CLAMPS, OR ON CONNECTORS WITHOUT CABLE CLAMPS. 2 52069421
PACKAGING PART NO
THIS DRAWING IS A CONTROLLED DOCUMENT. ™€ |\ o4y 2ty Tyco Electronics Corporation
CHK 28JUNOS | Pectronies Harrisburg, Pa 17105-3608
A S T e
o e T suoe oy
A 1 PLC . o , A
@ 1Lt e i
XN(E)II_-ECS + - . o SIZE CAGE CODE | DRAWING NO RESTRICTED TO
shT_T;ERII_iI;CH: STAINLESS STEEL F:::;WARE_ A e _ AB 00779 ©:520 6942 -
HARDWARE: STEEL : CUSTOMER DRAWING SCALE 41 SHEET 1 oF 1 REV O

AMP 1470-19 REV 31MAR2000



